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Grade 7  Regular                                TEST   

                            20/09/10
Marks   : 20


(1) Find the cube root of 4096 using prime factorization method:     

 [2]

(2)
Simplify








[8]






i)         x 7   ×  x 13

Answer    ……….……………
ii) 
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Answer    ……….……………


iii) 
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Answer    …………..…………


iv) 
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Answer    ……….……………

v) 
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                      Answer    ……….……………

vi) 6 6 ÷  6 ²


Answer    ……….……………

vii) 3y ² ×  4y ³

Answer    ……….……………

viii) (2n) 4  ÷  8n 0

Answer    ……….……………

(3)
Solve









[2]

(a) ((6 
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2) 
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4 -1) x 9
(b) ((11 – 3)
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 + 6) + 10 + 4
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                                                                               [2]
(4)  Find the square root of the following, using long division method.
[6]

a)  
390625


                                 
  b)     0.00059049
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